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Second Semester B.Arch. Degree Exaffiation, Jan. lF eb.2021,

Building Structqffi%ry- I I

M5ryM
Time: 3 hrs. ,* *Yry *Max. Marks: 100

w&,' -@b
Note: Answer any FIVE full questions, ffiWg ONE full questionffi@ each module.
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$irurart"-r & #

Defineparalle1axistheorem9r,ffieffi.I.aboutth@forarectangularsection
b x d. -. 

+;f& * @* (05 Marks)

What are the types ofbeamffirffi neat sketches. *& 
* 

(05 Marks)
Locate centroid for the ffiX" Fig. Ql (c). __* (10 Marks)

,dl'$"d "'*:*{'%lk' fu6" ''qe-"] ! i-w#
ffifr wim/uF,,

,ro*:iiiir[:]

fu6ry,r -'s r w
.-*" Om*qk{tt , @-: - lffi {li

2 a. Define centroid and csntre of gravity. Sh&il,:tl$ location of_@r right angle triangle.
*i :ta (05 I

a. Define centroid a.p"d c$ntre of gravity. Shffiilu_=.!.1rb location of Wr right angle triangle.

ry-e ffi*** (o6Marks)
b. What are the ffiof supports and_itNi&tb reactions for eatldbeam? (04 Marks)
c. Determine M.ildbout base for ttreffiQ2 (c). *, w (10 Marks)

,_._r-" .k lJ.Sm , J,ff zo
* t# Fig. Q2 (c)

@ Modute-2*\,
3 a. Define BM, SF and p&ffiTcontraflexure. (06 Marks)

b. Draw BMD and SF$ ffir the Cantilever beam of span 4 m and subjected to a point load

20 kI{ at free endS* (04 Marks)

c. Simply suppgrtffieam of span 6 m and subjected to point loads 20 kN and 40 kN at a
distance 2 m 8$il*4 m from left. Draw SFD and BMD. (10 Marks)
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OR
What are the assumptions in simple bending theory? *. -'- ;"
Give the expressions for bending stress andshear str6"sdi$i"explain each terms'

Draw typical bending stress d'istribution and sheffitress distribution for

sections. * *rP

4a.
b.
c.

15ENG25

(04 Marks)
(06 Marks)

"T" and ('I"

(10 Marks)

i simpff zuppiirted beam and fxed,b'1um of span ' (.'and subjected ,9 UPL

'co' througho

7f '(.'= 4mt

the deflection

Mp4s!.@"' \
5 a. Define section modulus urd ,al.uhffiffi*dulus for rectanffiShd circular sections

with usual notations. ffiq* %* ** (06 Marks)

b. Simply ,,rpport.a rectangularbearru*2dthimr4i9*; t]l,1|^q sHbjected to "1,y3"T:Simply supported rectangutar bearkzuufirm x 4[)urrn , spa, u r:#t

t0 kN/m. Catcutate nru*iiru- UffiiffiWtress and draw the qm-
q q". q'

;iS** Wi {w:"r
bffiiffiWtress and draw the Sffi-. (14 Marks)

& Sn

mw'' oR ryi'n'% %.

6 a. What is the importance of&f&&tion calculatiol ir 
Lhqstffictures? .,,,,,-, . 9iy:,T?

beanq simplYsuPPorted beam and fi;

3hout. Using{olb,wing appropriate eqr

m and load.i,$d 20 kN/m. Take EI = 6

|gffi#n oI span I anq suo.

rfor each beam calculate
2N-mm2

,*\# s a!.a

*w 384 EI* s.s.Beam

^ alab=-
3848I

Fixed
;'#%. (16 Marks)

d" {.\*"\ ry *r,P ,tre;k s k\Ulodule-4 +q, \4e& u%-u@4 4q5

7 a. Distinguish between tong .offio-tnott .otoqp.r*P ^ 5 (04 Marks)

b. DefinJeffe#; [Grr 
"'r*qr,S* 

and give tn.ffiTion for diffepfiffid conditions.
.i$Wffiix,$ t'%,*f ;ffi (06 Marks)

c. Determine Euler's cri#'fbaa for a circula$*SSrflmn of diamete1200 mm and height 4 m '
,ttdc

Column both ends at*,n%a- Take E = 3f# tfl$N/mm2' -" --, (10 Marks)
-- --;*w - u"%.,*

"S* ffipR ry?'r *v
8 a. Define slendeffiBi ratio and criticffiad. d d (04 Marks)

h T)erermine "F.rrler's critical maaeana safe load**br a rectangular column of size
$.uerstrv d -;. O.t..*ip. Euf,r's critical ffiadwhnd -safe 1Tfuk. a rectangular column of size

250mW.M0mm. Height*,OY$he column 6.# * and both ends hinged' Take

B = Q.@'"lo'N/mm2. ,,# ]d " ' o 
(16 Marks)

!r ,t& "'+s 
' **\nl$ **

$ s 4iP ModfSIS%'u &* ffi

a-q$ery reinforcementi$ used in concrete stdfictures'

ffiS.tl.*ire load caPryrtlgfre$anbular c

g 
" 

reinforcemenfru ffi& it concreG@Ettres? (04 Marks)

{y#b.tlrmine load ffirfliflg capacity of re6aigular column of size 250mm x 500mm consists* 
of 8-18 mm diarffi& bars. Use l\4ffiilrd Fe4l5- (16 Marks)

;&{a * {fl iw' 6

'*e%''S ry oR"Y*
(04 Marks)10 a. Explain the iiieaning of MftO affd Fe4l5. 

ta. Explain the iiieaning of MfrO a{td Fe4l5. (04 Marks)

b. Determine the load-car@g capacity of circular column of diameter 500 mm consists of
8-20mm$ bars. Use Fe500- (16 Marks)
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